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M9 H FA 1 EFERAHER 11,42
2887k A1 (BEXEKR-HER)12.05
263 bR AR 2 (B 5 ER) 12,16
213 A PREA 2 (fifEEs-HER) 12.89
225 T3 iK1 (lim%EEs-%ER)13.59

24758 L K3 (WER-HER) Ri5
+1.4 m)

18 £ i Fm At 2 (BRa k-5 ER) 11.05
97 5w w3 CREUEA-HER)11.25
173 5 AR =2 KRR 3 (HiEK-#ER) 11,37
123 %K E#  (LEhEGSER) 11.98
280 & W1 (FEXRER-HER)12.08
227 A E AR 1 (BREER-HER) 12,27
84 B )IIER  CakkER-#ER)13.15
61 & 1 #hdlH 4 GERFHER) RI5



(11#8] ¢ 0.0 m)

1[ 3]
2[ 6]
3[ 5]
4[ 7]
5[ 1]
6[ 2]
[ 4]
[ 8]

(13#8] (

1[ 4]
21[ 3]
3[ 6]
41 2]
5[ 1]
[ 5]
[ 7]
[ 8]

(15#8] (

10 4]
2[ 6]
3[ 5]
41 2]
5[ 1]
6 7]
10 8]

[ 3]

(1748] (

1[ 4]
2[ 5]
3[ 6]
41 7]
5[ 1]
6[ 8]

[ 2]

[ 3]

(1948] (

1[ 4]
2[ 3]
3[ 5]
41 7]
5[ 6]
6[ 2]
10 1]
8[ 8]

256 % A R 3 (ERiERe HER) 11,26
285 B K R A 2 (RERARAER) 11.37
138 3z il 4 (REFR-HER) 11,69
2574 )1l 73 (Bm-wER)11.84
282 ¢n A Rk 3 (RERAR-HER) 12,28
228 W E A1 (RhEEsHER) 12. 41
199 5 R B £ 2 GRER- i) Ri5

298 A Ay 2 (HfiE- HER) Ri5

109 7% 1%
13 1 i
87 % 1
294 & By
255 [ 1l
159 {4 ji&

230 & %=

-1.3

m)
SEK 4 (BERK-HER)11.00
HE 2 BaR-HER) 11,21
o (A TLR-EHEE)11.91
o1 (ERAR-HER) 12,65
B e 1 (kiixm %55 13. 07
fh K (RIERAC S ER) 15

1 (RREES SER) R

178 Zig Al 4 (REER-HER) Rig5

14 = Igf
49 F 35
347 1% i
68 4+ 1

232 11 A

284 1 7

265 . 1L

+0.9

m)
KA 3 (EBREL &ER) 10. 66
BESE (BKTC-#ER)11.59
o 51 (ERThE-SER) 11. 66
7= (WpmkEd cER) 11,77
1 (EEEERER)12. 26
w5 2 (BERARHER)12. 33
1B 2 (B -wER)12.77

135 RN (F&F - HUHE) Ri5

+1.3 m)
98 H ik = 2 (REUEK-%ER)10.85
T4 75 BORK 1 B8 ER) 11,17
67 /1N B GEEREGHER 11.60
207 f& - HE=F 2 (ifEER-SER) 11. 69
246 3+ [ kb= 2 GEkiExE-5HER) 12. 40

299 K ¥
217 7k WA
48 /)N 8%

2 T Ff
206 fir &
140 3 ji
59 %

142 5% N

192 e RAELC R

322 & Fr
56 A i

-0.9

Vi PN

i f& 2 (G- wER) 12. 94
HoR 2 (BREER-HER) Ri5

B (BFRTC-HER) RIG

m)

2890 4 (EERERRER) 11,17
&2 (ERRFREER)11.19
B 3 (MEFAHER)11.49
(VOLVER-# EIR) 11. 57
Bk 3 (MEFK-HER)11.75
(UCO-HiARIR) 12. 34
HEE 1 (BEs-mER)12.90
LR (R ERER-HER) 13,15

(1248] (

1[ 4]
2[ 5]
3[ 6]
40 7]
5[ 1]
6[ 2]
10 3]

[ 8]

(1448] (

1[ 4]
2[ 3]
3L 6]
41 2]
5[ 1]
60 7]
10 8]
[ 5]

(1648] (

1[ 4]
2[ 3]
3[ 2]
41 7]
5[ 8]
[ 1]
[ 5]
[ 6]

(18#8] (

11 4]
2[ 3]
3[ 5]
4[ 6]
5[ 2]
6[ 7]
1[0 1]
[ 8]

[20#8] (

1[ 4]
2[ 3]
3[ 5]
41 6]
5[ 7]
6[ 2]
10 1]

[ 8]

+1.8 m)
176 71N B K 5 (FEEK-%ER)10. 73
152 ¥ JF K 3 (MEFR-HER 11,21
5 )1 FEAHS 3 (ERRER-fikR) 11. 36
93 @ f&— (BRlilERHER)11.65
334 K PR 1 (FRFERGA-HER) 11.98
229 B)INHER 1 (Bh%EEs-%ER) 13. 06
100 4 H 1E K 2 CREOUEK #8) 13.13

254 & ¥

201 %
46 4 5t
160 5% 1
T3k I
231 10 52

+0. 2

8 7 1 CEWERE 5 ER) Ri5
m)

A RF 1 CROEER - #801R2) 10. 71

fME  (WATC-HER)11.06

HE (KHRACHER)11.26

i & 2 (EBREL-#ER) 11,37

K1 (FhEEEHER) 12. 41

283 ARIF RS 3 (BEREI-HER) 12. 47

262 F K
344 ]

42 12 i
106 1% Jik
174 9% 31
211 3] By
332" N
304 KX H

+0. 4

e 2 (Blim -5 ER) 12, 51

B 3 (ERhE - HER) Ri5
m)

£ M1 (EREEK-5ER) 10. 87
L3 (REXEA-5ER) 10. 92

Eh 3 (BAK-HER)12.23
B2 (BfEka-HER) 12, 34

KM 1 (BRERESE-HER) 12. 40

B 1 GEfRE - ER) Ri5

27 9l B M2 (R ER-HER) Ri5

50 & L

196 111 il
95 & H
26 /)N fiE
15 1 A
293 4 4t
267 H 1
270 /)~ 5
186 = A

96 = 1
A
8 B
151 B
208 7k
287 15 A
321 & ¥
215 58 K

+0.7

-1.6

B (BRTC-HER) RIS
m)
= (IBbER-RER) 10, 74
BF 23 (REXLLK BRE) 10. 75
g2 BER-HER)11.39
FEIK 1 (BAK-HER) 11,73
&1 GERARHER) 12,29
K2 (B 5ER) 12,98
W SR 1 (B RS ER) 13, 48
BE 1 CLER-HER) KI5
m)
AR 3 CRECSUEK-HiAR) 11. 06
KA 3 EFRAHER) 11,21
oK 3 (ERREL-EmR) 11, 31
PR 3 (MEFRHER) 11,62
& 3} 2 (EhEEs-%15) 12. 09
e 1 BERARREER) 12, 21
miE 1 (BEa-mER)12.97
2 2 (ifEEs 51h) k5



(21#8] (

11 4]
2[ 3]
3[ 5]
41 6]
5[ 2]
6[ 7]
71 8]

10 4]
2[ 3]
3[ 5]
41 7]
5[ 2]

[ 6]

[ 8]

(25#8] (

10 4]
2[ 3]
3[ 7]
41 6]
5[ 2]
6[ 8]

[ 5]

-0.4 m)

9 yEEm N R 3 (ERRERHAR) 11.
162 fix & 3 (BER - R IR) 11.
(RACRAC-HER) 11.
259 & M Fn Ay 3 (Bm-HER 11
(UCO HE A B 11.
EH 2 (WhEksHER) 12.
271w B 1 (BE-HER) 12,

(23#8] (
TV E 8 4 BETaR-70m i) 10.
241 W #0061 ks HER) 10.
164 4L 11 52 58 1 (BR-HER) 11,
112 )1 f 3 (R R-HER) 11,
258 A o — 3 (BM&-HER12.

158 B 5 # il

1914% i oz
209 & A

+1.8 m)

326 F+ =l B 2 (FREERAESER) R
302 A E B K2 (iffE mER &R
0.7 m)

1713 R %4 Bak-sER) 10

85 &% A (A LR-FHER)
201 /AR AR 1 (RERRR-HER) 12

94 %h ¢ E (FEKACHER) 12
292 H 1 #k 2 1 BERER-EER) 12
SI0FEHY THh & 1 (HidR-BER) 12
102 Ly 52 A 3 CRESULK-#HR) &R

iR Bg (3%R)

(18]
1[ 6]
21[ 4]
2[ 2]
4[ 8]
5[ 7]
60 1]
70 3]
8[ 5]

(3#8]
1[ 8]
21[ 6]
3[ 4]
4[ 2]
5[ 7]
60 1]
10 5]
[ 3]

( +1.2 m)
70 355 7k

44 7
109 7% 45
166 & £
18 41 i
18 HH A
247 ¥ H
( +3.2 m)
69 /)~ A
14 = IF}

196 (L1 iF {5
T i &4 GeR-HER) 11

Tl m 84 GRTa R k) sEsk7s L

B 2 (Biak- i i) 10.
101 FA7 58 B 2 1 (REXERERLER) 10.
A3 GiRE=k-#ER) 10.
se K 4 (BERK-HER) 10.
i — 3 CPERK FAR) 10.
B #gf 2 (BB K- ER) 10
A1 (ERRER-#EHR) 10,
e 1 GEses 558 10.

— B 2 (BRER-HER)10.
K3 (ERKER EER) 10
99 £ x# AF5 R 2 (KHOUER-EHE) 10.
176 17N B K5 BEEK-HER)10.
201 A& & #h A 1 CRIPER- ##ER) 10.
(et S ER) 11.

08
12
43
66
99
12
45

63
97
32
81
32
5

5

. 68
13
.05
.06
.12
. 84
5

62
68
68
68
15
89
90
94

40
90
54
95
65
01
17

(22#8] (

1[ 3]
20 17]
3[ 2]
41 8]
[ 4]
[ 5]
[ 6]

(2448] (

10 5]
2[ 4]
3[ 3]
410 7]
5[ 2]

[ 6]

[ 8]

(248]
1[ 4]
21 8]
3[ 3]
40 7]
5[ 5]
6[ 2]
10 1]
8[ 6]

76 Tk
313 %9
212 %5 1A
315 & I
25 ik B
23 1 H
108 1 &

-0.2

+0.4

m)
HHE 3 (BRiA K- fd) 11. 30
wmEk 2 (BEr-HER11.79
£ &2 (WhEER5ER) 12,47
B2 (EEm-5wER)13.69

3 BERHER KI5
Kl 3 BERKHE) Ki5
& A7 4 CUHER-BER) Ri5

m)

99 2 AR F5 9K 2 (KRR 55 10. 66

18 1
91 K7t
260 7)1
266 {4 jig
16 {J+ HE
216 /)5 )1

(  +0.5
83 & i1
11 HF
43 7 ik
4 )1 gy
95 & H
106 1= ji%
42 ¥ JR
98 [ ik

Ak 1 (ERRER-#E%) 10. 95
BT 3 (BERERRCHER) 1111
K3 (Em-HE 1171
LA 2 (B ER) 12. 08
M= 1 (ERRER TER) Ri5
FBAL 2 (HREER HER) Ri5

m)
— 7 3 (AL TER) 1921
K22 (EEREKF4R)10. 66
AR BE 3 (RF=A-HER) 10. 68
BlIK 3 (ERREL-HER) 10. 74
B2 3 (KRR BRI 10. 77

#L 3 (REUEK-5ER) 10. 79
% JoML (REF=A5ER) 10. 81
A2 (REXEK-%ER) 10. 95



4 N
iy =3

—_

O J O Ol Wi

83 % 1

69 /1 bk — Fl 2 (BRTEKHER)10.40 (+3. 2)
14 = ep KA 3 (ERRER S8R 10. 50 (+3. 2)
— 7 3 (AR TER) 1921 (+0.5)
99 = 2 AR F5HR 2 (RIK(EA 2450%) 10. 54 (+3. 2)
176 77 N 8 K 5 (FEELRHER) 10.55(+3. 2
1097 K B8 &k 2 (Biok f#i ) 10. 62 (+1. 2
201 A& & A6 A 1 GRIER- ##R) 10. 65 (+3. 2
N HEF k&2 (EHRfELGAR)10.66(+0.5

T — —

INFELZF 100m FE (221 LL—X)

(148]
1[ 6]
2[ 5]
3[ 4]
41 7]
5[ 3]
6[ 2]
70 8]
8[ 1]

(3#8]
1[ 3]
21 5]
3[ 2]
4[ 4]
5[ 8]
60 7]
70 1]
[ 6]

(58]
1[ 4]
21[ 6]
3[ 5]
4[ 1]
5[ 7]
6[ 2]
70 3]
81[ 8]

(78]
1[ 6]
2[ 5]
3L 4]
4[ 3]
5[ 2]
60 7]
11 8]

( -0.4 m)
4758 = E 6 (LhHLELSER) 13,92
38 A 6 (LhriitiEL4TR) 14. 64
178 F B 6 Elva=7ERETE) 15, 74
485K 35 CGIreifel) 15. 95
S54fnHE F.4C 5 (LhrifLiEb-4EE) 16. 56
94 HEbHRERL 4 (LRV2=TEEEER) 17, 47
62 E 7 &< B4 (LhrliLELEER) 17,95
SO TEREX T F 4 (LhZiiLEL5HER) 19. 19

( -1.0 m)

S E E =6 (GHET k) 13,08

THLH K& 6 CHT e REth) 15. 50
N T3 FJy5 (LbhoiELSEE) 16. 51
2 Bl FE4 (HEV2=7ELEER) 16. 64
51 B RMESS 4 (LhoieEb£ER) 17. 40
93 HAM KR 4 (HEv2-TELSER) 17. 89
65 AAF/INACHS 4 (LbzELfEL4EE) 18,75
67 A+ EAf % B 5 (LhoiitEb55R) K5

( +2.5 m)

197Vxn $7 6 (E7y==7EL45E) 13, 42
84 K& Ml 2E 6 (LEVaz7ERSER) 14. 87
61 B4R AL 5 (LhoiLELSER) 15, 61
29 %2 1 Ak 4 (ENYa-7ERSER) 1606
22 b EE 5 (EV.-7EREER) 16, 11

O E L B2 Bkl 16. 41
56 40 )1l EHE5 (LhriibEb45R) 16. 51

[248] (
1[ 3]
21 5]
3[ 6]
41 4]
5[ 8]
6 7]
70 2]
8[ 1]

[4#8] (
1[ 4]
21 5]
3[ 6]
4[ 3]
5[ 7]
6 1]
10 2]
8[ 8]

(6481 (
1[ 4]
21 5]
3[ 6]
4[ 3]
5[ 7]
6[ 2]
10 8]

+0. 3

m)

34 Jf # 6 (LhZlLELATR) 14,
81 EHXE 1 6 (FEVa2=T[ELEER) 15.
G FE 6 (LhoifLELSER) 15.
18 B T 6 (LRVa-TEEREE) 15.
45 /NEE AL 4 (LhZHEERHER) 16.
TF1E 4 (tRVa=7EEEEE) 16.
21 KW H 14 (Eva=7EL4GER) 16.
9B R 4 (LRVazTEREER) 19,

40 )11

97 fix B

-0.2

m)

30
23
67
11
41
52
94
11

74+ wE 6 (Lhuikbgih) M

16 W7 1= Jrak 6 (Giv==7[ELETE) 14,
80 AR M AN 6 (LEV2=TiEL4EE) 15,
96 75 i EHx 4 (LEVazTEREEE) 16.
66 A JIJIAEAE 5 (LhzifbiEL4TR) 16.
W4 (LhzieELEER) 17
N HHHEA L 4 (HEV2=TEEEER)1T.
Y 4 (BY2=TEEEER) 17,

69 o (L

26 14 A
-0.1

177V &
19 8%

m)

o8 Hi &

&+ 6 (Hey=c7lEEEE) 13.
W 75 (ENYazTERSEE) 15.
86 VH & 2K I 6 (LEV2=TEREEE) 16.
g6 (LhZiILEL%ER) 16.
64 KA ACACES 6 (LhziEbERSTR) 16.
32 £ I A& 2= 4 (LboiiLEESER) 16.
39k AR P HE 4 (LhIELEEEER) 17,

86
66
36
81
41
43
61

99
34
09
22
68
93
84

33 kL

( +0.9
48 &5 K
145 =
23 /N AR
85 Hy
24 /)N 1
30 AN 3
28 7

4 (LhliLERSER) 16. 76
m)
Jal - 6 (LhZliLiER5ER) 13. 89
J= 25 (Frremikel) 14. 95
BEAE 4 (BY2=7]EL4EE) 15, 32
fiE A 6 (HRV2=7ERSEE) 15,99
b 4 (EY2cTERETE) 16. 75
BRI A4 (BIV2-7EESTE) 17. 03
PEAE 4 (Bl ==T)EEETE) 18, 29

[ 1]

(8#H]
1[ 5]
2[ 4]
3[ 3]
4[ 6]
5[ 7]
6[ 2]
10 8]

Ri5
( -1.7 m)

374 1 A6 (LhlitELEER) 14.07

6 iU WE JY 5 G EE T b)) 15. 40
36 FEHZ Z A6 (Lhrlitkb4EE) 16. 62
55 2278 HL{k 4 (LbhoiiLER5ER) 16. 80
82 L H W6 (Hy.=7ELEEE) 17. 06
83fE 1 A% 6 (LEyVa=TELEER)17. 37
46 K 44 (LhIHlERSER) 17,42



[9#8] (
1[ 4]
2[ 5]
3[ 7]
41 8]
[ 2]
[ 3]
[ 6]

(1148] (
1[0 5]
2[ 4]
3[ 3]
41 6]
5[ 2]
[ 7]
[ 8]

-0.3 m)
128 difF 6 (LhIfLELEER)15.19
3 H 5 CErEETifEd) 15. 88
13 1 B A 3 (BrAemikEl) 16. 81
52 ZH 9% Al 3Z 4 (LhriLiEL-4EE) 16. 86
13 KA 2 3£ 5 (LhoiLELBEE) R1i5
24+ #9045 (VOLVER- B £ 1) k15
53 M FE A6 (LhiLELETE) Ri5
0.4 m)
11K s 6 Cor)amifels) 14. 35
155 5 (B A7 6 (Elva=7HELEER) 14. 68
50 fa M SEFE 5 (LhoiiLEL4ER) 15,75
1085 & A 45 (LhoiiEb4ER)15. 89
100 /)5 1| B 4 (LEV2z7EREER) 16,99
25 [ b kb BE 4 (ENVacTEREEE) RI5
B E TERS (LhoitEhath) K15

iR Bg (248)

(1481 (
1[ 6]
2[ 3]
3[ 4]
4[ 5]
5[ 8]
60 1]
10 2]
8[ 7]

op

O Jd OO 1T b Wi —

+0.5 m)
1R ey 6 Coriamifels) 14. 27
3B A 6 (LhritELaER) 14. 46
15 = Iy ' Ay 6 (BNv==7EEEER) 14.73
42 5 W EBRZ5 (LhoieEk5ER) 14.79
16 % 1= k6 (BNv==7ELEER) 14. 95
A/ 6 (LhiitERSER) 15,00
145 = 525 (B 15. 04
84 RV Mh%£6 (LEV-=7EL%ER) 15.08

SR E L6 CHTETIEEH) 12/° 04
74 £ B 6 (LhIELEREER) 13.22(-0. 4
197V=n 47 6 (127227EE5ER) 13. 43 (0.
ATHE R 76 (LhliLELHER) 13,73 (0.
374 7 Wik 6 (LhIiELEbiER) 13.91(-0.
4845 A BT 6 (LbIitLEEER) 14,00 (0.
TT76 2 #7 6 (12Y:=7/EL4ER) 14. 08 (0.

0.

)
)
)
)
)
)
34F [@  HE6 (LhzHLERGER) 14.17(-0.4)

4
4
4
4
4
4

(1048] (

1[ 6]
2[ 5]
3[ 7]
41 4]
5[ 3]
6[ 2]
10 8]

(1248] (

1[0 4]
2[ 8]
3[ 2]
41 6]
5[ 7]
6[ 3]

[ 5]

[24R] (
1[ 5]
2[ 4]
3[ 3]
4[ 8]
5[ 1]
6 6]
70 7]
8[ 2]

-0.4 m)

BRZ3 5 (LhziLELSER) 14
6 (LhoifbEL4EE) 14,
PRA 4 CHrEET 2 17) 15.
¥ A5 (gLlEb5EE)16.
% 4 (FRY2=TEEETE) 16,
31 Ay EEE 4 (ENV2=TEESER) 17.
60 N & £ 4 (LhofilEba5R) 20.

+0.2 m)
A3WT H 6 (LhziEbELETR) 14,
68 g1 1l R E 6 (LhzifbiEL4TR) 16.
1T/ v 26 (VOLVER-#ER) 16.
44 B E3E5 (LhziEbEL4TE) 16.
21 22 FEAR 5 (ElV2=7EESER) 16.
954 A A 4 (LEV2=7EEEEE)19.
57 % H

42 75
/N
8 H
76 58
98 B

-0.4 m)

5 &
74 +H HE6 (LhlibELFER)13.
197vVzm +7 6 (LEV2=7ELSER) 13.
4758 B 756 (LohIHLELSHER)13.
374 1 B4 6 (LhziLEbaER) 13.
48 gn AR A -6 (LoZRLELSHER) 14,
170 2 151 6 (LEyac7ERGER) 14,
34 =5 #E 6 (LhoHLELEER) 14

INEEBF 100m FEOMEZALL—X)

(148] (
1[ 4]
2[ 6]
3[ 3]
41 8]
5[ 7]
6 1]
[ 2]
[ 5]

+0.3 m)
135 Ak K 6 (ENV2=TEEEEE) 13,75
28 %45 i BESr 5 (LhofLiEb4EE) 15. 20
62 1 KK 6 (FEy2=7EL4EE) 15. 65
36 KL K—4 (Lh[iLELHER) 17. 23
128 W — A5 (LRva=7EEREE) 17,29
76 /N E 92 4 (FRY==7ER4ER) 18. 69
M NS (LhiEbERSTR) RiG
39 W A A6 (LhIfLELETR) K15

[248] (
1[ 4]
21 5]
3[ 6]
4[ 8]
5[ 3]
6[ 2]
70 1]
8[ 7]

+1.0 m)

56 KAARIE M 6 (FRV2=TEEEER) 13.
2177 46 B K 5 (BfVa=TER4EE) 15.
192 W %45 @EVa=7EREER) 15.
77 SE W KB 4 (ERY2=7EL4ER) 15,

T/ B+ 5 CoEdikE) 16.
18 AT ARG 4 (FEVazTERSER) 16.
T3k M 2 5 (LEV2=TEEEER) 17.
3FHHE K6 (LhrifbEbsTR)17.

83
94
96
30
67
64
99

98
07
16
53
60
60

ot e (LbhziELELSER) K15

B 6 CHTIE T e ) 13f®

22
43
13
91
00
08
17

55
46
63
98
24
93
01
09



(348] (
1[ 4]
2[ 5]
3[ 2]
41 8]
5[ 1]
6 7]
7L 3]
[ 6]

(548] (
1[ 4]
2[ 6]
3[ 3]
41 7]
5[ 8]
6[ 2]
[ 5]

(7481 (
1[ 4]
21 6]
3[ 5]
4[ 8]
5[ 3]
6[ 2]
1017]

[948] (
1[ 5]
2[ 4]
3[ 3]
4[ 6]
5[ 8]
60 7]
70 2]

+1.4 m)
5734 FESr 6 (FRva-TEE%ER) 14,14
189 M KFnb5 (ENv==7EL5EE) 15. 20
82 & IRy £ 4 (HRVazTELEER) 15. 68
AR EE 4 CGBr)a i) 16. 72
83 v 25 B 4 (FRV2-7EREER)17.12
7489 R B 5 (bEV2=TERSER) 17,13
6 H M RE3 CHTEETRER) 18. 11
63 M A% 22 DL 6 (LEV2=TlELEER) Ri5
-0.8 m)
64 1= B HE =} 6 (LEV2=T]
10 K% B A 5 (LEVaz
61 AR (=6 (FEVa=T|
25 Mk HEFE 4 (ENYT
81 1/ 2 R KM 4 (LEV2=7IELEEE) 17, 14
65 B9 R & H 6 (LEV2=7[EL5%R) 18. 56
29 7R P Sk 6 (LhZieERaER) Ri5
-0.4 m)
38 7F i TR K6 (LhriibERsT8)13.77
45 #5H FERE 6 (SLzlEL5ER) 14. 04
2 HE VA PR 6 CErieThibE ) 14. 82
19% ¥ B4 (bRV2=TERSER) 16. 33
b8 H (St Hi6 (HRvazTiELETE) 16. 35
434 A5 (LhzibERSER) 16. 63
A 5Kk FE 5 (LhiLER4ER) 17, 33
-0.9 m)
34 F By B 5 (LhoifiEbaTE) 14. 34
17 & Wy # K 5 (Ev==7EREEE) 15. 09
30 /N ER K5 (LhoftlEtAER) 15,76
31 1EfE F — 6 (LhrliLEr45R)16.16
60 £ (L 26 (LEVa-TEL4ER) 16. 48
16 75 3% ik 6 (BNv2=7ELEER) 16. 50
80 % M X &4 (thva=7ELEER)18. 23

P

5%8)14.03
EE5EE) 15,40
$%2) 15. 51
%38)16. 45

B

FeF P

= b= = = b

EEn

I

iR Rg (248)

(14#8] (
11 4]
2[ 6]
3[ 3]
41 7]
5[ 5]
6[ 8]
1[0 1]
8[ 2]

-0.2 m)

42 /vt FREC 6 (LhoHeERSER) 13.94
BAELHY $H R 5 (LhoirERSER) 14.08
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